1 1H B

09 Ri —
g3Bl1o6 =
1.60

0.89

210
g4P 0126 =

7 HFRREDS 7RIS SIKEE:
E=0: [hg/> @ ho/ol"  (1=0,2,4,6,8)

208
goPD1o6 + P

13/2*

Uz

9/2™

2098i

= 2085,Pby,6 + 2p

E=0.89 MeV: [hg /o &) f7/2]”

(1=1,2,3.45,6,7,8)
—> 1MeV LLTFDR®

3dsp ()

3dsp  (6)

lijy, (12)

Ipin (2)

3psn 4
265, (8)

el

312 (D)

10

V(r) (MeV)

60 | | |.|

EIWL#—L 13 1@@43%




#1084P 0156 = 2%%3,PD 56 + 2
17 4if FHEZE D 7 4
E=0: [hg/o @ hosn)'  (1=0,2,4,6,8)
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1i): HHETR)LE— (MeV)
“O82PD195 = “goPbyet2n 1646.6
“O83Bl1y7 = #Pg,Phypetn+p 1644.8
20982|3l?127 = 2083 ,Ph et 1640.4
*Pa3Bl1og = “PgoPhyoetp 1640.2
Bpair = A (for even — even)

0 (for even — odd)
—A (for odd — odd)
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